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How many seconds are in
3 minutes?

140

How many minutes are in 5 hours?

300

What type of triangle is PQR?
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This bottle holds 2 litres.

What is 2 litres in millilitres?

2000 L
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Write an expression for the
perimeter of the rectangle.
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What is the bearing of B from T?
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What is the bearing of T from B?
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Arnne, Beth and Claire share £1800 in
the ratio 1:6:8.

How much does each woman receive?

1+b+$ = \5
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¢ O is the centre of the circle.
Find the size of angle ACB.
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04 Ls¥e In a small village, one bus arrives a day.
— The probability of rain in the village is
- Rain -
03 o. ‘1 0.3.
OnTime | If it rains, the probability of a bus being
s ==l |ate is 0.4.
Q, ?_ NoRain _— If it does not rain, the probability of a
bus being late is 0.15.
O ° 6 S‘ On Tirme

Complete the tree diagram.
o-3%0-4 = 01%

1.85

Work out the number of days the bus will
be late over a period of 160 days.
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Solve 2% -19x+35=0
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Rearrange to make w the subject.
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